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o& 150,000 *11H = 12& 19,800
203 SR F=&H| 10,000 10,000 0
01 D222 =&Y 6,600 6,600 0
OsSHE(JIEH) 6,600
02 {2 =X 400 400 0
OHAINNER =R 40,0003 x10H 400
04 EN2IEHRFEH 3,000 3,000 0
OFRN2EIRFEH| 250,000& x12& 3,000
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AN SX2S
A #H2AAM(SX2s)
etel: JI2ZHI(EX2s) (98
S BB SR (B) - NEAY - BAS &y Soe DB
S A2 57,707 55,867 1,840
HE2IHH(sX2s) 57,707 55,867 1,840
Jl23HI(&X2s) 57,707 55,867 1,840
Jl2ddl(&X23) 57,707 55,867 1,840
201 2egr2g 27,827 27,827 0
01 A2 2telH] 14,386 14,386 0
oget=2H| 870,500 x12& 10,446
o=l 2,940
OSHEAL HEAE9H| 1,000
02 =524 13,441 13,441 0
0Z232= ¥ HAl 885,080 »12& 10,621
(©tiR=d] 141,0008 x12& 1,692
(OZNF=F:1E=IN]] 1,128
202 O4H| 19,800 18,000 1,800
02 A0l 19,800 18,000 1,800
OF M 150,000 11E*12& 19,800
203 ¥Rl 10,080 10,040 40
01 J| 22824 6,600 6,600 0
oOsSHOIEYA) 6,600
02 FRAJAHRF A 480 440 40
OFAIIAHRFLHI 40,0008 12 480
04 EA2E R4 3,000 3,000 0
ORNZEHR2F2aI 250,000& »12& 3,000
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fAM: 2X3S
Iy HYEHH
¢l JI23H(s &
SN (FH) - HBEANY - BES oo %Ei e
S A3 62,825 63,325 A500
HHY2A LU (E3S) 62,825 63,325 A500
Jl28HI(&X33) 62,825 63,325 A500
Jl=2ZHI(EA3s) 62,825 63,325 A500
201 get=24Ed| 34,825 35,325 A500
01 AtR2tel 12,189 12,189 0
OgBt==2H| 687,410& <128 8,249
o=l 2,940
Os &AL 1,000
R232=29g 22,636 23,136 A500
0332 1,648,333& 128 19,780
(©F¥=3 142,830 128 1,714
oA4d 1,142
202 (44l 18,000 18,000 0
02 EHHH 18,000 18,000 0
©OF=! 150,000 10E x 128 18,000
203 YR =& 10,000 10,000 0
01 J|22d P RF=8H 6,600 6,600 0
oOsE(OIEY) 6,600
02 I F R =AY 400 400 0
O IAH R = 40,0003 x10& 400
04 EM2E TR 3,000 3,000 0
ORM2IYR=LH 250,000& 128 3,000
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SN SXH4S
M HY2ITHI(SXH4S)
etel: JI2ZHI(EXH4S) ?EH
- _ _ pSNE N
SA-EFH - SA(SAH) - MREAY - BES &hoh @Eiﬁ &
S 4 86,008 76,313 9,695
HE 2L HH (S XH4S) 86,008 76,313 9,695
dH(SXH4S) 86,008 76,313 9,695
23H(EXH43) 86,008 76,313 9,695
201 get=24Ed| 44,468 39,653 4,815
01 A2 2telH] 20,388 16,373 4,015
(C)=RIE = 1,223,666 «12¢ 14,684
o=l 4,704
OSHEAL HEAE9H| 1,000
02 =524 24,080 23,280 800
0Z232= ¥ HAl 1,766,666 122 21,200
©)E=3] 144,000 «12& 1,728
(OZNF=F:1E=IN]] 1,152
202 (44l 28,800 25,200 3,600
02 A0l 28,800 25,200 3,600
ERJCL] 150,000 16E x 128 28,800
203 ¥Rl 12,740 11,460 1,280
01 J[22E R FaH| 7,900 7,900 0
oOsE(IEA) 7,900
02 FRAJAHRF A 640 560 80
OFAIIAHRFLHI 40,0002 x 16 640
04 FEAZESRFAH 4,200 3,000 1,200
ORM2IYR=LH 350,000 128 4,200
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